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1.£�K÷©42 ©§z�K7 ©¤O�e��Kµ

(1)�z(x, y) =
(x
y

)2
ln(3x− 2y), ¦

∂z

∂x
(1, 1),

∂2z

∂x∂y
(1, 1).

(2)¦�m­�

x
2 + y2 + z2 − 3x = 0

2x− 3y + 5z − 4 = 0

3:(1, 1, 1)?����§"

1 1� ( �8� )



(3)¦ý��Ô¡z = 1 + x2 + 3y2!�Î¡x2 + y2 = 19²¡z = 0¤��k.«�

�NÈ"

(4)O��­È©

∫∫
Ω

(1 + x+ y)2

1 + x2 + y2
dxdy, Ù¥«�Ω = {(x, y)|x2 + y2 ≤ 1}.

1 2� ( �8� )
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(5)¦Ú
∞∑
n=1

1

(2n)!
.

(6)��È¥m©Kz§b�§ò���±¥/§�NÈ�KzÇ�L¡È¤�

'§e3�Ð�����S§ÙNÈ ~��5�
1

8
"O�È¥�ÜKz¤I�

�m"

1 3� ( �8� )



2.£�K÷©8 ©¤¦¼êf(x, y) = x2 + y2− xy3«�D : |x|+ |y| ≤ 1þ���

�"

3.£�K÷©8 ©¤ �f(x)3Rþ����§?Ø
∞∑
n=1

(−1)nf(
1

n
)�ñÑ5"

1 4� ( �8� )
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4.£�K÷©10 ©¤¦¼êS(x) =
∞∑
n=1

(−1)n−1

n2n
xn 3x = 1?�TaylorÐmª9¤

¦Ðmª�Âñ�"

1 5� ( �8� )



5.£�K÷©10 ©¤ k3�Ýf§1��Ýf¥k1�x¥§4�ç¥¶1��Ý

f¥k2�x¥§3�ç¥¶1n�Ýf¥k3�x¥§2�ç¥"�ÅÀ���Ý

f§l¥Ã�£/�Ñ3�¥"±XL«¤�Ñ�x¥ê§¦X�VÇ©Ù"
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6.£�K÷©12 ©¤ �f(x)´ëY¼ê§�÷v

f(x) = ex +

∫ x

0

(2 + t− x)f(t)dt

¦¼êf(x).

1 7� ( �8� )



7.£�K÷©10 ©¤ b�,½zU�Ñ>þØ�L�z�Z���§�T½z

UÑ>Çξ(
Ñ>þ

z�Z���
) �VÇ�Ý¼ê�

ϕ(x) =

6x(1− x), x ∈ (0, 1];

0, Ù§.

XJT½u>�zUø>þ�80�Z���§¦µ

(1)?�Uø>þØ
I¦�VÇp´õ�º

(2)?�Uø>"�Ç(
"�Ñ>þ

z�Z���
)���ÚÏ"�©O´õ�º

(3)�cpø>þØ
I¦�Uê�Ï"�´õ�º

1 8� ( �8� )


